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14 clocks

t_task_25
t_task_24
t_task_23
t_task_22
t_task_21

t_pipeline_2
t_asap_2
t_task_15
t_task_14
t_task_13
t_task_12
t_task_11

t_pipeline_1
t_asap_1

2 parameters

C_task_11
C_task_15

4 discrete

Token_24
Token_22
Token_14
Token_12

Initial

C_task_15 >= 0 
 & C_task_11 >= 0 
 & t_task_12 = 0 
 & t_task_13 = 0 
 & t_task_14 = 0 
 & t_task_15 = 0 
 & t_asap_2 = 0 

 & t_pipeline_2 = 0 
 & t_task_21 = 0 
 & t_task_22 = 0 
 & t_task_23 = 0 
 & t_task_24 = 0 
 & t_task_25 = 0 

 & t_pipeline_1 = 0 
 & t_task_11 = 0 
 & t_asap_1 = 0

pipeline_1

P1_1 0 >= t_asap_1

P1_2 200000 >= t_pipeline_1

 t_asap_1 = 0
task_11_act

P1_3 0 >= t_asap_1

 200000 >= t_pipeline_1
task_11_done
t_asap_1 := 0

P1_4 200000 >= t_pipeline_1

 t_asap_1 = 0
task_12_act

P1_5 0 >= t_asap_1

 200000 >= t_pipeline_1
task_12_done
t_asap_1 := 0

P1_6 200000 >= t_pipeline_1

 t_asap_1 = 0
task_13_act

P1_7 0 >= t_asap_1

 200000 >= t_pipeline_1
task_13_done
t_asap_1 := 0

P1_8 200000 >= t_pipeline_1

 t_asap_1 = 0
task_14_act

P1_9 0 >= t_asap_1

 200000 >= t_pipeline_1
task_14_done
t_asap_1 := 0

P1_10 200000 >= t_pipeline_1

 t_asap_1 = 0
task_15_act

P1_11 31250 >= t_pipeline_1

 200000 >= t_pipeline_1
task_15_done
t_asap_1 := 0

 t_pipeline_1 = 31250
pipeline_restart_1
t_pipeline_1 := 0

t_asap_1 := 0

pipeline_2

P2_1 0 >= t_asap_2

P2_2 1000000 >= t_pipeline_2

 t_asap_2 = 0
task_21_act

P2_3 0 >= t_asap_2

 1000000 >= t_pipeline_2
task_21_done
t_asap_2 := 0

P2_4 1000000 >= t_pipeline_2

 t_asap_2 = 0
task_22_act

P2_5 0 >= t_asap_2

 1000000 >= t_pipeline_2
task_22_done
t_asap_2 := 0

P2_6 1000000 >= t_pipeline_2

 t_asap_2 = 0
task_23_act

P2_7 0 >= t_asap_2

 1000000 >= t_pipeline_2
task_23_done
t_asap_2 := 0

P2_8 1000000 >= t_pipeline_2

 t_asap_2 = 0
task_24_act

P2_9 0 >= t_asap_2

 1000000 >= t_pipeline_2
task_24_done
t_asap_2 := 0

P2_10 1000000 >= t_pipeline_2

 t_asap_2 = 0
task_25_act

P2_11 3000000 >= t_pipeline_2

 1000000 >= t_pipeline_2
task_25_done
t_asap_2 := 0

 t_pipeline_2 = 3000000
pipeline_restart_2
t_pipeline_2 := 0

t_asap_2 := 0

proc_1

proc_1_000
True

stop t_task_11,t_task_15,t_task_25

proc_1_100
C_task_11 >= t_task_11

stop t_task_15,t_task_25

task_11_act
t_task_11 := 0

proc_1_010
C_task_15 >= t_task_15

stop t_task_11,t_task_25

task_15_act
t_task_15 := 0

proc_1_001
22728 >= t_task_25

stop t_task_11,t_task_15

task_25_act
t_task_25 := 0

DEADLINE_MISS True

 C_task_11 = t_task_11
task_11_done

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

proc_1_110
C_task_11 >= t_task_11

stop t_task_15,t_task_25

 C_task_11 > t_task_11
task_15_act

t_task_15 := 0

proc_1_101
C_task_11 >= t_task_11

stop t_task_15,t_task_25

 C_task_11 > t_task_11
task_25_act

t_task_25 := 0

 C_task_15 = t_task_15
task_15_done

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

 C_task_15 > t_task_15
task_11_act

t_task_11 := 0

proc_1_011
C_task_15 >= t_task_15

stop t_task_11,t_task_25

 C_task_15 > t_task_15
task_25_act

t_task_25 := 0

 t_task_25 = 22728
task_25_done

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

 22728 > t_task_25
task_11_act

t_task_11 := 0

 22728 > t_task_25
task_15_act

t_task_15 := 0

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

 C_task_15 = t_task_15
task_15_done

 C_task_11 = t_task_11
task_11_done

proc_1_111
C_task_11 >= t_task_11

stop t_task_15,t_task_25

 C_task_11 > t_task_11
task_25_act

t_task_25 := 0

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

 t_task_25 = 22728
task_25_done

 C_task_11 = t_task_11
task_11_done

 C_task_11 > t_task_11
task_15_act

t_task_15 := 0

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

 t_task_25 = 22728
task_25_done

 C_task_15 = t_task_15
task_15_done

 C_task_15 > t_task_15
task_11_act

t_task_11 := 0

 22728 > t_task_25 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_1

 22728 > t_task_25 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_1

 t_task_25 = 22728
task_25_done

 C_task_15 = t_task_15
task_15_done

 C_task_11 = t_task_11
task_11_done

proc_2

idle
True

stop t_task_12,t_task_14,t_task_22,t_task_24

t_12_running
445 >= t_task_12

stop t_task_14,t_task_22,t_task_24

task_12_act
Token_12 := 1

t_14_running
445 >= t_task_14

stop t_task_12,t_task_22,t_task_24

task_14_act
Token_14 := 1

t_22_running
889 >= t_task_22

stop t_task_12,t_task_14,t_task_24

task_22_act
Token_22 := 1

t_24_running
889 >= t_task_24

stop t_task_12,t_task_14,t_task_22

task_24_act
Token_24 := 1

 Token_14 = 0 
 & Token_22 = 0 
 & Token_24 = 0 

 &  t_task_12 = 445
task_12_done
Token_12 := 0

 t_task_12 > 0
task_12_act

Token_12 := 1

 0 >= t_task_12
task_12_act

Token_12 := 1

 t_task_12 > 0
task_14_act

Token_14 := 1

 0 >= t_task_12
task_14_act

Token_14 := 1

 t_task_12 > 0
task_22_act

Token_22 := 1

 0 >= t_task_12
task_22_act

Token_22 := 1

 t_task_12 > 0
task_24_act

Token_24 := 1

 0 >= t_task_12
task_24_act

Token_24 := 1

 Token_14 = 1 
 & Token_22 = 1 
 & Token_24 = 1 

 &  t_task_12 = 445
task_12_done
t_task_14 := 0
Token_12 := 0

 Token_14 = 1 
 & Token_22 = 0 
 & Token_24 = 1 

 &  t_task_12 = 445
task_12_done
t_task_14 := 0
Token_12 := 0

 Token_14 = 1 
 & Token_22 = 1 
 & Token_24 = 0 

 &  t_task_12 = 445
task_12_done
t_task_14 := 0
Token_12 := 0

 Token_14 = 1 
 & Token_22 = 0 
 & Token_24 = 0 

 &  t_task_12 = 445
task_12_done
t_task_14 := 0
Token_12 := 0

 Token_14 = 0 
 & Token_22 = 1 
 & Token_24 = 1 

 &  t_task_12 = 445
task_12_done
t_task_22 := 0
Token_12 := 0

 Token_14 = 0 
 & Token_22 = 1 
 & Token_24 = 0 

 &  t_task_12 = 445
task_12_done
t_task_22 := 0
Token_12 := 0

 Token_14 = 0 
 & Token_22 = 0 
 & Token_24 = 1 

 &  t_task_12 = 445
task_12_done
t_task_24 := 0
Token_12 := 0

DEADLINE_MISS True

 445 > t_task_12 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_2

 445 > t_task_12 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_2

 Token_12 = 0 
 & Token_22 = 0 
 & Token_24 = 0 

 &  t_task_14 = 445
task_14_done
Token_14 := 0

 0 >= t_task_14
task_12_act

Token_12 := 1

 Token_12 = 1 
 & Token_22 = 1 
 & Token_24 = 1 

 &  t_task_14 = 445
task_14_done
t_task_12 := 0
Token_14 := 0

 Token_12 = 1 
 & Token_22 = 0 
 & Token_24 = 1 

 &  t_task_14 = 445
task_14_done
t_task_12 := 0
Token_14 := 0

 Token_12 = 1 
 & Token_22 = 1 
 & Token_24 = 0 

 &  t_task_14 = 445
task_14_done
t_task_12 := 0
Token_14 := 0

 Token_12 = 1 
 & Token_22 = 0 
 & Token_24 = 0 

 &  t_task_14 = 445
task_14_done
t_task_12 := 0
Token_14 := 0

 t_task_14 > 0
task_12_act

Token_12 := 1

 t_task_14 > 0
task_14_act

Token_14 := 1

 0 >= t_task_14
task_14_act

Token_14 := 1

 t_task_14 > 0
task_22_act

Token_22 := 1

 0 >= t_task_14
task_22_act

Token_22 := 1

 t_task_14 > 0
task_24_act

Token_24 := 1

 0 >= t_task_14
task_24_act

Token_24 := 1

 Token_12 = 0 
 & Token_22 = 1 
 & Token_24 = 1 

 &  t_task_14 = 445
task_14_done
t_task_22 := 0
Token_14 := 0

 Token_12 = 0 
 & Token_22 = 1 
 & Token_24 = 0 

 &  t_task_14 = 445
task_14_done
t_task_22 := 0
Token_14 := 0

 Token_12 = 0 
 & Token_22 = 0 
 & Token_24 = 1 

 &  t_task_14 = 445
task_14_done
t_task_24 := 0
Token_14 := 0

 445 > t_task_14 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_2

 445 > t_task_14 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_2

 Token_12 = 0 
 & Token_14 = 0 
 & Token_24 = 0 

 &  t_task_22 = 889
task_22_done
Token_22 := 0

 0 >= t_task_22
task_12_act

Token_12 := 1

 Token_12 = 1 
 & Token_14 = 1 
 & Token_24 = 1 

 &  t_task_22 = 889
task_22_done
t_task_12 := 0
Token_22 := 0

 Token_12 = 1 
 & Token_14 = 0 
 & Token_24 = 1 

 &  t_task_22 = 889
task_22_done
t_task_12 := 0
Token_22 := 0

 Token_12 = 1 
 & Token_14 = 1 
 & Token_24 = 0 

 &  t_task_22 = 889
task_22_done
t_task_12 := 0
Token_22 := 0

 Token_12 = 1 
 & Token_14 = 0 
 & Token_24 = 0 

 &  t_task_22 = 889
task_22_done
t_task_12 := 0
Token_22 := 0

 0 >= t_task_22
task_14_act

Token_14 := 1

 Token_12 = 0 
 & Token_14 = 1 
 & Token_24 = 1 

 &  t_task_22 = 889
task_22_done
t_task_14 := 0
Token_22 := 0

 Token_12 = 0 
 & Token_14 = 1 
 & Token_24 = 0 

 &  t_task_22 = 889
task_22_done
t_task_14 := 0
Token_22 := 0

 t_task_22 > 0
task_12_act

Token_12 := 1

 t_task_22 > 0
task_14_act

Token_14 := 1

 t_task_22 > 0
task_22_act

Token_22 := 1

 0 >= t_task_22
task_22_act

Token_22 := 1

 t_task_22 > 0
task_24_act

Token_24 := 1

 0 >= t_task_22
task_24_act

Token_24 := 1

 Token_12 = 0 
 & Token_14 = 0 
 & Token_24 = 1 

 &  t_task_22 = 889
task_22_done
t_task_24 := 0
Token_22 := 0

 889 > t_task_22 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_2

 889 > t_task_22 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_2

 Token_12 = 0 
 & Token_14 = 0 
 & Token_22 = 0 

 &  t_task_24 = 889
task_24_done
Token_24 := 0

 0 >= t_task_24
task_12_act

Token_12 := 1

 Token_12 = 1 
 & Token_14 = 1 
 & Token_22 = 1 

 &  t_task_24 = 889
task_24_done
t_task_12 := 0
Token_24 := 0

 Token_12 = 1 
 & Token_14 = 0 
 & Token_22 = 1 

 &  t_task_24 = 889
task_24_done
t_task_12 := 0
Token_24 := 0

 Token_12 = 1 
 & Token_14 = 1 
 & Token_22 = 0 

 &  t_task_24 = 889
task_24_done
t_task_12 := 0
Token_24 := 0

 Token_12 = 1 
 & Token_14 = 0 
 & Token_22 = 0 

 &  t_task_24 = 889
task_24_done
t_task_12 := 0
Token_24 := 0

 0 >= t_task_24
task_14_act

Token_14 := 1

 Token_12 = 0 
 & Token_14 = 1 
 & Token_22 = 1 

 &  t_task_24 = 889
task_24_done
t_task_14 := 0
Token_24 := 0

 Token_12 = 0 
 & Token_14 = 1 
 & Token_22 = 0 

 &  t_task_24 = 889
task_24_done
t_task_14 := 0
Token_24 := 0

 0 >= t_task_24
task_22_act

Token_22 := 1

 Token_12 = 0 
 & Token_14 = 0 
 & Token_22 = 1 

 &  t_task_24 = 889
task_24_done
t_task_22 := 0
Token_24 := 0

 t_task_24 > 0
task_12_act

Token_12 := 1

 t_task_24 > 0
task_14_act

Token_14 := 1

 t_task_24 > 0
task_22_act

Token_22 := 1

 t_task_24 > 0
task_24_act

Token_24 := 1

 0 >= t_task_24
task_24_act

Token_24 := 1

 889 > t_task_24 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_2

 889 > t_task_24 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_2

proc_3

proc_3_0
True

stop t_task_23

proc_3_1 44248 >= t_task_23

task_23_act
t_task_23 := 0

DEADLINE_MISS True

 t_task_23 = 44248
task_23_done

 44248 > t_task_23 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_3

 44248 > t_task_23 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_3

proc_4

proc_4_00
True

stop t_task_13,t_task_21

proc_4_10
9091 >= t_task_13

stop t_task_21

task_13_act
t_task_13 := 0

proc_4_01
90910 >= t_task_21

stop t_task_13

task_21_act
t_task_21 := 0

DEADLINE_MISS True

 t_task_13 = 9091
task_13_done

 90910 > t_task_21 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_4

 90910 > t_task_21 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_4

proc_4_11
9091 >= t_task_13

stop t_task_21

 9091 > t_task_13
task_21_act

t_task_21 := 0

 t_task_21 = 90910
task_21_done

 90910 > t_task_21 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_4

 90910 > t_task_21 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_4

 90910 > t_task_21
task_13_act

t_task_13 := 0

 90910 > t_task_21 
 & t_pipeline_2 = 1000000

DEADLINE_MISSED_4

 90910 > t_task_21 
 & t_pipeline_1 = 200000

DEADLINE_MISSED_4

 t_task_21 = 90910
task_21_done

 t_task_13 = 9091
task_13_done


